Code No. : 2338

SWITCH GEAR AND PROTECTION

Time: 2.30Hourg| [Maximum Marks: 50
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[Minimum Marks: 17

Attempt all questions. Attempt any two parts from each question.

Students are advised to specialy check the Numerical Data of question paper in both versions. If there is any
difference in Hindi Translation of any question, the students should answer the question according to the English
version.

Use of Pager and Mobile Phone by the studentsis not allowed.

Enlist the faults occurs in over head and underground lines.
Explain Murray loop test for locating earth fault in underground cables.

What do you understand by a switch gear? What is its function?
[2x5=10]

Explainaminimum oil circuit breaker.
What is Kit-Kat fuse? Give its advantages and disadvantages.

What isrelay? What are its element?
[2x5=10]

Explain the various possible faultsin generator.
Explain unbalanced |oad protection for generator.

Explain Buckholz relay used for protection of transformer.
[2 x5= 10]

What do you mean by over voltage? What is this effect.
What is Thyrite arrester? Explain how itsworks.

How transmission lines can be protected against lightning.
[2 x5= 10]

Compare the outdoor and indoor substations.
Wheat is neutral grounding? Also write the advantages of neutral grounding.

Draw asinglelinediagram of 33KV sub-station.
[2 x5= 10]
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